
 

TECHNIQUE MATERIALS  BOOK NO. A5440-3 PAGE 1/9 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Notice 

1）Please acknowledge, we will stop the replenishment of stocks of parts  

when seven (7) years have passed after sale or ten (10) years have passed after 
suspended production, therefore becoming parts supply only of our stock's worth. 

2）"Listed each prices" are up dated one (date of the price correction),  

please acknowledge it will be changed in the future without any prior notice. 
 
 
 
 
 
 
 
 
 
 
 
 
 

ISSUE : May 16, 2020 
 
 
 
 
   

PARTS LIST 

GEARED MOTOR SPE-400A3x 
 
 

EA-89 

MARK DATE OF CONTENTS OF AMENDMENT 

 -  

 Jan.20.2021 

The Addition for No.49 on page4 
Changed for No.1 on page6 
Deletion part name for No.3 on page6 
The Addition for No.25 on page6 

 Feb.26.2021 
Changed for No.11 on page3 
Changed for No.7 on page6 

 Dec.17.2021 Changed for No.12 on page8 

 

CONSEC CORPORATION 



GEARED MOTOR SPE-400A3x (GEAR BOX) BOOK NO. A5440-3 PAGE 2/9 
     

 

   



GEARED MOTOR SPE-400A3x (GEAR BOX) BOOK NO. A5440-3 PAGE 3/9 
      
NO. CODE NO. DESCRIPTION / STANDARD Q’TY REMARKS LIST PRICE EACH 

1 002102613 Main Shaft Arod SPE 1  ¥31,100- 

2 003120313 O-ring S-31.5 2  ¥90- 

3 002101414 Bushing M12V 1  ¥4,480- 

4 003110653 Snap Ring ISTW-65  1  ¥600- 

5 002101447 Feed Water Cover RB12 1  ¥5,430- 

6 003160496 Water Cock 1/4 for Coupler 1  ¥1,200- 

7 003120631 O-ring S-63 2  ¥165- 

8 003134055 Seal MHSA40558 1  ¥600- 

9 003134052 Seal MHSA40528 1  ¥585- 

10 002102625 Gear Case SPE 1  ¥14,400- 

11 
003016206 Ball Bearing 6206ZZ

(New)
 2  ¥1,280- 

003606206 Ball Bearing 6206-2NSE
(Old)

 2  ¥1,610- 

12 003110621 Snap Ring H-62 1  ¥195- 

13 002100480 Bearing Collar φ40 M,ON 1  ¥1,400- 

14 003110300 Snap Ring S-30 1  ¥90- 

15 002102621 Collar φ41×φ30×4 SPE 1  ¥590- 

16 002102612 Final Gear(L) 54T SPE 1  ¥12,800- 

17 002100482 Metal Collar φ39 M,ON 1  ¥630- 

18 003110280 Snap Ring S-28 1  ¥90- 

19 002102611 Final Gear(M) 42T SPE 1  ¥8,240- 

20 002102623 Shift Lever SPE 1  ¥7,340- 

21 003120140 O-ring P-14 1  ¥70- 

22 002100489 Metal Collar Φ34 M,ON 2  ¥630- 

23 002102610 Final Gear(H) 30T SPE 1  ¥5,540- 

24 003110220 Snap Ring S-22 1  ¥65- 

25 003016202 Ball Bearing 6202ZZ 2  ¥630- 

26 002102609 Third Pinion (L) 16T SPE 1  ¥11,000- 

27 002102618 Spacer φ30×φ22.6×16.5 SPE 2  ¥610- 

28 002102608 Third Pinion (M) 32T SPE 1  ¥3,650- 

29 002102607 Third Pinion (H) 40T SPE 1  ¥4,640- 

30 002102617 Friction Plate SPE 2  ¥360- 

31 002102616 Metal SPE 1  ¥770- 

32 002102198 Dry Bearing DBB3012 1  ¥1,400- 

33 002102606 Third Gear 57T SPE 1  ¥7,110- 

34 002102615 Plate SPE 1  ¥860- 

35 002100451 Disc Spring A-35.5 M,ON,6N 3  ¥1,350- 

36 002102614 Nut Collar SPE 1  ¥230- 

37 002102603 Twin Fu-Nut 03SC 1  ¥4,410- 

38 003016201 Ball Bearing 6201ZZ 2  ¥540- 

39 003016000 Ball Bearing 6000ZZ 2  ¥650- 
 
  



GEARED MOTOR SPE-400A3x (GEAR BOX) BOOK NO. A5440-3 PAGE 4/9 
      
NO. CODE NO. DESCRIPTION / STANDARD Q’TY REMARKS LIST PRICE EACH 

40 002102605 Second Pinion 13T SPE 1  ¥6,390- 

41 002001073 Woodruff Key 5×5×10 1  ¥150- 

42 002102604 Second Gear 41T SPE 1  ¥5,540- 

43 002003966 Speed Change Knob Ⅱ M302A2 1  ¥990- 

44 002101018 Spring O24R 1  ¥500- 

45 003160414 Hex. Socket Head Shoulder Bolt ST-8-20 1  ¥380- 

46 003340600 Spring Washer Ⅱ 6 4  ¥5- 

47 003380630 Hex. Socket Haed Cap Screw M6×30 4  ¥50- 

48 003160248 Hex. Socket Cap Plug 1/8” 1  ¥50- 

49 002004369 Oil Seal Spacer SPE 1 After No.0121001 ¥1,200 
  



GEARED MOTOR SPE-400A3x (MOTOR) BOOK NO. A5440-3 PAGE 5/9 

     

 

 
   



GEARED MOTOR SPE-400A3x (MOTOR) BOOK NO. A5440-3 PAGE 6/9 

      
NO. CODE NO. DESCRIPTION / STANDARD Q’TY REMARKS LIST PRICE EACH 

1 
002102677 Inner Cover Ⅱ SPE

(New)
 1 After No.0121001 ¥10,900- 

002102624 Inner Cover SPE
(Old)

 1  ¥10,900- 

2 002004310 Speed Change Seal LOW-MID-HI 1  ¥190- 

3 002003967 Bearing Lock φ4.6×10 1  ¥70- 

4 002003917 Earth Plate N202A 1  ¥280- 

5 003490401 Toothed Washer (E) 4 1  ¥5- 

6 003410406 Round Head. Screw M4×6 (B) 1  ¥10- 

7 
003656003 Ball Bearing 6003-2RD

(New)
 1  ¥1,200- 

003626003 Ball Bearing 6003LLH
(Old)

 1  ¥875- 

8 002102655 Armature 230V E1MT 1  ¥19,300- 

9 002102386 Baffle Plate N1MT 1  ¥175- 

10 002004276 Hex. Socket Bolt 5×85 (Half Thread) 2  ¥290- 

11 002102398 Crimp-style Terminal R1.25-5 1  ¥35- 

12 002102656 Field 230V E1MT 1  ¥10,500- 

13 002102396 Insulating Tube 3  ¥90- 

14 002102397 Lead  1  ¥90- 

15 002102228 Insulating Washer F1MT 1  ¥130- 

16 003616200 Ball Bearing 6200-2NKE 1  ¥580- 

17 002003918 Hakken Seal 47×50 １  ¥125- 

18 003330600 Flat Washer (R) 6  4  ¥5- 

19 003340600 Spring Washer Ⅱ 6  4  ¥5- 

20 003380645 Hex. Socket Head Cap Screw M6×45  4  ¥55- 

21 002003919 Line Seal 17×36 1  ¥105- 

22 002102538 Motor Housing Assy. N1MT 1  ¥11,400- 

23 002102230 Carbon Brush F1MT 1set  ¥1,200- 

24 002102231 Holder Cap F1MT 2  ¥130- 

25 003161278 Oring AS126(NBR) 1 After No.0121001 ¥180- 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



GEARED MOTOR SPE-400A3x (SWITCH BOX) BOOK NO. A5440-3 PAGE 7/9 

     

 
 

 
 
   



GEARED MOTOR SPE-400A3x (SWITCH BOX) BOOK NO. A5440-3 PAGE 8/9 

      
NO. CODE NO. DESCRIPTION / STANDARD Q’TY REMARKS LIST PRICE EACH 

1 003150987 Breaker 3120-N524 11A 1 N7T1-W01D ¥5,600- 

2 002004332 SPE-400A3x Name Plate Caution 1  ──── 

3 003160421 WH Tapping Screw A 4×20 4  ¥15- 

4 002003453 Switch Box Ⅱ SP 200A 1  ¥250- 

5 002002615 Crimp Sheath 8A2i 1  ¥160- 

6 002001794 Cord Clip 6V 1  ¥150- 

7 003150324 Tab Terminal FVDHDF1.25-250B 4  ¥50- 

8 003410408 Round Head Screw M4×8 (B) 1  ¥16- 

9 003150331 Crimp-style Terminal N1.25-4(red) 2  ¥20- 

10 003490401 Toothed Washer (E) 4 1  ¥5- 

11 ─── Cord H07RN3×1.5 2P 1  ──── 

12 003150994 Plug 2P-16A 230V 1 After No.0521026 ¥3,880- 
  



  

GEARED MOTOR SPE-400A3x (STANDARD ACCESSORIES) BOOK NO. A5440-3 PAGE 9/9 

     

 

 
 

NO. CODE NO. DESCRIPTION / STANDARD Q’TY REMARKS LIST PRICE EACH 

1 002004345 Tool Pouch t0.3×125×400 1  ¥360- 

2 003161170 Single-ended Wrench 46mm N 1  ¥3,720- 

3 003160583 Single-ended Wrench 36mm N 1  ¥1,540- 

4 003160104 Ratchet Wrench 17×21mm 1  ¥2,800- 

 
 


